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1113|FEAS |B 150 1500 0 1500 10 0 0 0 2808 0 1512
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1201|833 E% 60 900 0 900 15 0 0 0 1188 0 972
GhH 60 900 0 900
1203|F ¥ AY HE 35 350 0 350 10 0 0 0 0 756 0
BHE 250 3750 0 3750 15 0 0 0 1296 0 918
E% 77 770 0 770 10 0 0 0 1404 0 864
GhH 362 4870 0 4870
1207| & & & 885 93 93 0
1209[B & Bl 5 15 0 15 3 0 0 0 1620 0 1512
& 5 15 0 15
1301 [#aF BmE 35 140 0 140 4 0 0 0 2160 0 1080
S 22 110 0 110 5 0 0 0 2808 0 2052
#mE 12 72 0 72 6 0 0 0 1512 0 1080
Eh 81 370 0 370
1311[FF IR 2 30 120 0 120 4 0 0 0 1944 0 1890
EE 18 108 108 0 6 2700 0 324 0 0 0
#mE 15 60 0 60 4 0 0 0 1728 0 1296
Eh 63 288 108 180
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(&) 810 81 0 81
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(&) 26 78 0 78
1411 BE Eh 90 27 0 27
1541 [E& EE 350 3500 0 3500 10 0 0 0 1296 0 540
Eh 350 3500 0 3500
1603|tz)L)— [E%H 6 60 0 60 10 0 0 0 0 3996 0
Eh 6 60 0 60
16097 aval)  [dtiEE 19 152 0 152 8 0 0 0 0 3024 0
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(&) 22 170 0 170
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1807|128 E & 100 10 0 10 0.1 0 0 0 0 38 0
f=554 2310 462 0 462 0.2 0 0 0 63 0 49
=% 390 117 0 117 0.3 0 0 0 0 57 0
Gh 2800 589 0 589




2/2R=2

WMEME TR RIS - 2025%7H198 (%)
o TERAORTRES
P BR B E-RE CEEBRUAEERELEEESD)
BBI—F [&% TEEH HFEEH |[HEEske |[#YTESke [HAxRGIESEke [HESH [ |[BYRGISE [HUYRSIHE [SYRSIRE [HEXRGISE [HEXR5I0E [HExdiEIRE
1809|L &L EH 150 15 0 15 0.1 0 0 0 0 49 0
E& 1170 234 0 234 0.2 0 0 0 81 0 46
GhH 1320 249 0 249
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22212+ 'S 6 60 0 60 10 0 0 0 0 4860 0
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2511 4k Fnarl 3 12 0 12 4 0 0 0 5940 0 5400
ED 3 12 0 12
2616|SYAA GhH 3 9 0 9
2701|7—JLR _ |ZH 5 40 0 40 8 0 0 0 0 5940 0
GhH 5 40 0 40
2731|FEK A 386 6176 0 6176 16 0 0 0 5940 0 3240
f=554 20 200 0 200 10 0 0 0 4536 0 4104
EF 18 288 0 288 16 0 0 0 8100 0 5940
(&) 424 6664 0 6664
* S EEET * 879 13561 0 13561




